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Keihin-Vergaser Lambda / Drehmoment bei: n = 4000 [1/min]
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Keihin-Vergaser CO bei: n =2000 [1/min]
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Keihin-Vergaser CO bei: n = 3000 [1/min]
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Keihin-Vergaser CO bei: n = 4000 [1/min]
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Keihin-Vergaser CO bei: n = 5000 [1/min]
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Keihin-Vergaser CO bei: n = 7000 [1/min]

CO [%]

o

0 20 40 60 80 100

alpha [%]

—--CO

O =~ DD W A~ O




Keihin-Vergaser

CO, bei: n = 2000 [1/min]

16

15

14

13

CO; [%]

12 -

11

10

alpha [%)]

- (C02




Keihin-Vergaser CO, bei: n = 3000 [1/min]
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Keihin-Vergaser HC bei: n = 2000 [1/min]
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Keihin-Vergaser HC bei: n = 3000 [1/min]
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Keihin-Vergaser
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Keihin-Vergaser NO, bei: n = 2000 [1/min]
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Keihin-Vergaser Verbrauch bei: n = 2000 [1/min]
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Keihin-Vergaser Verbrauch bei: n = 3000 [1/min]
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Keihin-Vergaser Verbrauch bei: n = 4000 [1/min]
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Keihin-Vergaser Verbrauch bei: n = 5000 [1/min]
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Keihin-Vergaser Verbrauch bei: n = 6000 [1/min]
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